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Correct Marks : 1 Wrong Marks : 0
In Fourier Series Analysis for Harmonic Decomposition a, stands for

A. Fundamental component
B. Harmonic component

C. dc component

D. ac component
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Smart grid back bone is............... , which connect different components to a smar
grid, and provide two way communication.

A. Smart Meter
B. ICT

C. SCADA

D. DCS

Which of the following methods do we use to find the best fit line for data in Line
Regression?

A. Least Square Error

B. Maximum Likelihood
C. Logarithmic Loss

D. Both A and B
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In terms of bias and variance. Which of the following is true when you fit degree
polynomial?

A. Bias will be high, variance will be high
B. Bias will be low, variance will be high
C. Bias will be high, variance will be low
D. Bias will be low, variance will be low

Suppose that you have a dataset D1 and you design a linear regression model of ¢
3 polynomial and you found that the training and testing error is “0” or in another
it perfectly fits the data.
What will happen when you fit degree 4 polynomial in linear regression?
A) There are high chances that degree 4 polynomial will over fit the data
B) There are high chances that degree 4 polynomial will under fit the data
C) Degree 4 polynomial will perfect fit the data
D) Cant Say
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Question Number : 6 Question Id : 8995142055 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To test linear relationship of y(dependent) and x(independent) continuous varia
which of the following plot best suited?

A. Scatter plot
B. Barchart

C. Histograms
D. Spectrum

Pick the incorrect attribute of Big Data?

A. Velocity
B. Volume
C. Version
D. Veracity
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Question Number : 8 Question Id : 8995142057 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The number of nodes in the input layer is 10 and the hidden layer is 5. The maxim
number of connections from the input layer to the hidden layer are

A) 50

B) Less than 50

C) More than 50

D) It is an arbitrary value

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9/16/2020

The smart Grid sensing and control infrastructure is comprised of,
A. DG, Combined heat and power (CHP) , PHEVSs, PV cells and WT
B. Sensors, intelligent electronic devices (IEDs) and smart meters
C. uwave, IR, PLCC, GSM and CDMA

D. High-end servers, middleware and data-storage unit

If a smart meter provides 15 minutes interval data, how many record you will get i1
week?

96 reads
672 reads
192 reads
48 reads

Sowy
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What is the sampling rate of Digital Fault Recorder (DFR)?

A. 1600 Samples per second
B. 4 Samples per second

C. 6 Samples per second

D. 240 Samples per second

AMI means
A. Automated Metering Instrument

B. Alternate Metering Instrument
C. Advanced Metering Infrastructure

D. Advanced Metering Instrument
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statement is true about prediction problems?
A. The output attribute must be categorical.
B. The output attribute must be numeric.
C. The resultant model is designed to determine future outcomes.
D. The resultant model is designed to classify current behaviour.

Which of the following neural network training challenge can be solved using batcl
normalization?

A) Overfitting

B) Restrict activations to become too high or low

C) Training is too slow

D) Both B and C
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You observe the following while fitting a linear regression to the data: As you
increase the amount of training data, the test error decreases and the training error
increases. The train error is quite low (almost what you expect it to), while the test

error is much higher than the train error. What do you think is the main reason bel
this behavior. Choose the most probable option.

(A) High variance

(B) High model bias

(C) High estimation bias
(D) None of the above

Which of the following is correct way to import the Numpy module in your progr:

A. import numpy
B. import numpy as np

C. from numpy import *
D. All of the above
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Question Number : 17 Question Id : 8995142066 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A stepped sine wave obtained from the constant dc input source is odd symmetry i
f(-t) = -£(1),

A. ap and a, are zero and the peak value of the output is resolved using b, alone
B. ap is zero and the peak value of the output is resolved using a, and b,
C. a, is zero and the peak value of the output is resolved using ap and b,

D. ag and b, are zero and the peak value of the output is resolved using a, alone

Classification problems are distinguished from estimation problems in that

A. classification problems require the output attribute to be numeric.
B. classification problems require the output attribute to be categorical.
C. classification problems do not allow an output attribute.

D. classification problems are designed to predict future outcome.
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Question Number : 19 Question Id : 8995142068 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data used to optimize the parameter settings of a supervised learner model.
training

test

verification

validation

00w

Simple regression assumes a relationship between the input attribute
output attribute.
A linear
B. quadratic
C.reciprocal
D.inverse
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Question Number : 21 Question Id : 8995142070 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For tuples and list which is correct?
A - List and tuples both are mutable.
B - List is mutable whereas tuples are immutable.
C - List and tuples both are immutable.

D - List is immutable whereas tuples are mutable.
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What is output for: 2 * 2 **3
A-12
B-64
C-16
D-36

Which module is used in python to create plots ?
A - matplotlib
B - Canvas
C - Tkinter
D - Graphics
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Correct Marks : 1 Wrong Marks : 0

Which module is used in python to create 2D arrays ?

A —array

B — 2Darray
C - NumPy
D —array2D

Which of the following is a Python tuple?
A¥ |12, 3].
B)(1.2,3)
C) {1,2, 3}
D) {}
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Question Number : 26 Question Id : 8995142075 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Suppose t = (1, 2, 4, 3), which of the following is incorrect?

A) print(t[3])
B) t[3] =45

C) print(max(t))
D) print(len(t))

Which method can be used to replace parts of a string?
A) repl()
B) replace/( )
C) switch( )
D) replaceString( )
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Question Number : 28 Question Id : 8995142077 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the output?
t=(1,2,4,3)
>>>t[1:-1]
A)(2,4)
B)(1,2,4)
C)(1,2)
D) (2,4, 3)
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What will be the output?
d = {"john":40, "peter":45}
d["john"]

A) 40

B) 45

C) “john”

D) “peter”

Is Python case sensitive when dealing with identifiers?
A) ves
B) no
C) machine dependent

D) none of the mentioned
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Question Number : 31 Question Id : 8995142080 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

All keywords in Python are in
A) lower case
B) UPPER CASE
C) Capitalized

D) None of the mentioned

Which statement is used to stop a loop?
A) exit
B) stop
C) return
D) break
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Question Number : 33 Question Id : 8995142082 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Suppose listl is [4, 2, 2, 4, 5, 2, 1, 0], Which of the following is correct syntax for

slicing operation ?
A) print(list1[0])
B) print(list1[:2])
C) print(list1[:-2])

D) all of the mentioned
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Suppose listl 1s [2, 33, 222, 14, 25], What 1s list1[:-1] ?
A)[2, 33,222, 14].
B) Error
C) 25
D) [25, 14, 222, 33, 2].

In python which keyword is used to start function ?
A) function
B) try
C) def
D) import
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Who created python ?
A) Guido Van Rossum
B) James Gosling
C) Denis Ritchie

D) Tom Cruise

In python 3 what does // operator do ?
A) Float division
B) Integer division
C) returns remainder

D) same as a**b
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Question Number : 38 Question Id : 8995142087 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the name of data type for character in python ?

A) chr

B) char

C) character

D) python do not have any data type for characters they are treated as string.
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What is output of following code —

x=2
y=10
x¥=y*x+1

A)42
B) 41
C)44
D) 35

How can we generate random numbers in python using methods?

A - random.uniform()
B - random.randint()
C - random.randomy()
D - All of the above
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Question Number : 41 Question Id : 8995142090 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a cloud stakeholder?
A) Cloud providers
B) Clients
C) End users
D) Cloud users
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In this type of cloud, an organization rents cloud services from cloud providers
demand basis.

A) Private
B) Public

C) Protected
D) Hybrid

Most of the cloud architectures are built on this type of architecture.
A) skeleton
B) grid
C) linear

D) template
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Question Number : 44 Question Id : 8995142093 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fog computing can be perceived in and

A) Big data and Cloud systems

B) Big data and IoT

C) Cloud systems and IoT

D) Big data, Cloud systems and IoT
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practice of using a network of remote servers hosted on the Interne

store.
A) Mist Computing
B) Fog computing
C) Cloud computing
D) Mobile cloud computing

What issue is common in many Fog computing challenges?
A) Bandwidth
B) Latency
C) Network security
D) Network traffic
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Question Number : 47 Question Id : 8995142096 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer for “Hop™ requirement between cloud and fog.

A. Multiple Hops in cloud and One hop in fog
B. One hop in cloud and Multiple hop in fog
C. Both (a) and (b)

D. None

Which of the following is not a characteristic of Fog computing?

A. Fog-device collaboration

B. Distributed data management
C. Distributed queries

D. Multi-tenancy
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Question Number : 49 Question Id : 8995142098 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fog computing offers quick response times and support for large data amounts.

A. True
B. False

What are the benefits of Fog computing security?
A) Fog computing security only benefits IoT

B) Fog computing only secures data about Fogs, including mountain Fogs
table Fogs

C) Fog computing security can respond in real time and host behavioral th
analytics

D) Fog computing cannot be secure
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Question Number : 51 Question Id : 8995142100 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following are the functions of Smart Meter?

A. Demand based tariff
B. Power quality measure
C. Remote controlling

D. All of the above

What is the role of Bigdata in smart grid architecture of IoT?
A) Store data
B) Manage data
C) Collect data
D) Security
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Question Number : 53 Question Id : 8995142102 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
IoT security management includes
A) Protocol abstraction
B) Simple and fast installation
C) Security with hardware

D) Data storage
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What is the example for smart grid edge device for utility?
A) Smart Meters
B) Smart Home
C) Smart Car

D) Smart Collage

Which requires Edge analytics?
A) Bigdata
B) IoT
C) Bigdata & IoT
D) Device data
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Question Number : 56 Question Id : 8995142105 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which among these is related to the critical clearing time of a fault in a power syst

A. Transient stability limit
B. Steady state stability limit
C. Frequency limit

D. Voltage limit

Phasor Measurement Unit is used in
A. Local Area Monitoring
B. Wide Area Monitoring
C. Both Local and Wide Area Monitoring
D. Weather Monitoring
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Question Number : 58 Question Id : 8995142107 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PMU uses which of the following phasor estimation technique
A.Full DFT
B. Half DFT
C. Recursive DFT
D. Cosine DFT

PMU provides which of the following information
A. Voltage Magnitude
B. Phase Angle
C. Voltage and Phase Information

D. Voltage Magnitude, Phase Angle and Frequency
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Question Number : 60 Question Id : 8995142109 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Time Synchronization information is provided with the help of
A. GPS Satellites
B. GPRS
C. WIF1
D. Zigbee
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In order to provide correct time syhcronization information, the antenna must sync
with atleast how many GPS Satellites?

A2
B.3
C. 4
D.5

Which of the following will be true about k in k-NN in terms of Bias?
A) When you increase the k the bias will be increases
B) When you decrease the k the bias will be increases
C) Can’t say
D) None of these
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The SVM’s are less effective when:
A) The data is linearly separable
B) The data is clean and ready to use
C) The data is noisy and contains overlapping points
D) The data is not available

What would happen in SVM when you use very small C (C~0)?
A) Misclassification would happen
B) Data will be correctly classified
C) Can’t say
D) None of these
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Which of the following statement is true about k-NN algorithm?

1. k-NN performs much better if all of the data have the same scale
k-NN works well with a small number of input variables (p), but struggles
when the number of inputs is very large
3. Kk-NN makes no assumptions about the functional form of the problem being
solved
A)1land?2
B) 1 and 3
C) Only 1
D) All of the above

-2

Which of the following option is true about k-NN algorithm?
A) It can be used for classification

B) It can be used for regression
C) It can be used in both classification and regression
D) It can be neither used in classification nor regression
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Question Number : 67 Question Id : 8995142116 Question Type : MCQ Option Shuffling : No Display Que:
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What would be the time taken by 1-NN if there are N(Very large) observations in
data?

A)N*D

B) N*D*2

C) (N*D)/2

D) None of these

Which of the following will be Euclidean Distance between the two data point A(1
and B(2,3)?

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9/16/2020

8995148428. 3
8995148429. 4

Question Number : 69 Question Id : 8995142118 Question Type : MCQ Option Shuffling : No Display Que:
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

refers to applications/services that run on a distributed network using
virtualized resources.

A. Distributed computing
B. Cloud computing

C. Soft computing

D. Parallel computing

Which of the following cloud concept is related to pooling and sharing of resource:
A. Polymorphism
B. Abstraction
C. Virtualization
D. Service Oriented Architecture
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Question Number : 71 Question Id : 8995142120 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Cloud Platform of Amazon is ?
A. A7zure
B. AWS
C. Cloudera
D. OpenNebula

Which service layer rely on the virtual machine technology to deliver servers?
A. CaaS
B. AaaS
C. PaaS
D. IaaS
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Question Number : 73 Question Id : 8995142122 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How do you define a public cloud?

A. A cloud formation that can be seen across the globe

B. A cloud service that can only be accessed from a publicly shared computer
C. A multi-tenant cloud environment accessed over the internet

D. A cloud environment owned, operated and controlled by a public company

Which of the following acronyms refers to a software distribution model in which
cloud provider manages and hosts an app that users access via the internet?

A. TaaS

B. PaaS

C. SaaS

D. DaaS
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Question Number : 75 Question Id : 8995142124 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which Azure big data cloud service is used to perform real-time analytics, specii
for the internet of things (IoT)?
A. Azure HDInsight
B. Azure IoT Analytics
C. Azure Real-time Insights
D. Azure Stream Analytics

What is Google's new big data service, which it has coined as a successor to
MapReduce?
A. Cloud Dataflow

B. Kubernetes
C. onMetal Cloud Big Data Platform

D. DynamoDB
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Question Number : 77 Question Id : 8995142126 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Overfitting is more likely when you have huge amount of data to train?

A) TRUE

B) FALSE

Which of the following is a good test dataset characteristic?

A. Large enough to yield meaningful results
B. Is representative of the dataset as a whole
C. Both A and B

D. None of the above
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Correct Marks : 1 Wrong Marks : 0
Which of the following methods do we use to find the best fit line for data in Line
Regression?
A) Least Square Error
B) Maximum Likelihood
C) Logarithmic Loss
D) Both A and B

How do you handle missing or corrupted data in a dataset?

A. Drop missing rows or columns

B. Replace missing values with mean/median/mode
C. Assign a unique category to missing values

D. All of the above
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Correct Marks : 1 Wrong Marks : 0
When performing regression or classification, which of the following is the correc
way to preprocess the data?

A. Normalize the data — PCA — training
B. PCA — normalize PCA output — training
C. Normalize the data — PCA — normalize PCA output — training

D. None of the above

The SVM’s are less effective when:

A) The data is linearly separable
B) The data is clean and ready to use
C) The data is noisy and contains overlapping points
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Suppose you have trained a logistic regression classifier and it outputs a new exair
x with a prediction ho(x) = 0.2. This means

A. Our estimate for P(y=1 | x)
B. Our estimate for P(y=0 | x)
C. Our estimate for P(y=1 | x)
D. Our estimate for P(y=0 | X)

How can you prevent a clustering algorithm from getting stuck in bad local optima

A. Set the same seed value for each run
B. Use multiple random initializations
C. Both A and B

D. None of the above
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Correct Marks : 1 Wrong Marks : 0

Computers are best at learning

A. facts.

B. concepts.
C. procedures.
D. principles.

Which of the following machine learning algorithm can be used for imputing miss
values of both categorical and continuous variables?

A) K-NN

B) Linear Regression
C) Logistic Regression
D) Self Organising Map
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Question Number : 87 Question Id : 8995142136 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following cases will K-means clustering fail to give good results?

1) Data points with outliers 2) Data points with different densities 3) Data points
nonconvex shapes

1 and 2
2and 3
1,2, and 3
1 and 3

oW

The minimum time complexity for training an SVM is O(n2). According to this fa
what sizes of datasets are not best suited for SVM’s?

A) Large datasets

B) Small datasets

C) Medium sized datasets
D) Size does not matter
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Question Number : 89 Question Id : 8995142138 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a widely used and effective machine learning algorithm
based on the idea of bagging?

A. Decision Tree
B. Regression

C. Classification
D. Random Forest

Which of the following option is true about k-NN algorithm?

A) It can be used for classification
B) It can be used for regression
C) It can be used in both classification and regression
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Question Number : 91 Question Id : 8995142140 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What would be the time taken by 1-NN if there are N(Very large) observations in
data?

A)N*D
B) N*D*2
C) (N*D)/2

D) None of these

Support vectors are the data points that lie closest to the decision surface.
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Question Number : 93 Question Id : 8995142142 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What would happen in SVM when you use very small C (C~0)?

A) Misclassification would happen
B) Data will be correctly classified
C) Can’t say

D) None of these
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Why should anyone care about edge computing?

A. Tt can alleviate latency and network congestion issues
B. Better than cloud computing

C. Supports IoT
D. Good Programming Support

What technological advancement contributed to edge computing's popularity?

A. ToT

B. Cloud

C. 5G

D. 802.11ax or Wi-F1 6
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The input image has been converted into a matrix of size 28 X 28 and a kernel/filt
size 7 X 7 with a stride of 1. What will be the size of the convoluted matrix?

AY27X 97
B) 21 X 21

C)28 X 28
D)7X7

In a simple MLP model with 8 neurons in the input layer, 5 neurons in the hidden
layer and 1 neuron in the output layer. What is the size of the weight matrices betw
hidden output layer and input hidden layer?

A)[1X5],[5X8]

B)[8X5],[1X5]

C)[8X5],[5X1]

D)[5x1],[8X5]
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Question Number : 98 Question Id : 8995142147 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of following activation function can’t be used at output layer to classify ar
image?

A) sigmoid
B) Tanh
C)ReLU

D) If(x>5,1,0)
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is the feature of cloud computing that allows the service to change in :
or volume in order to meet a user’s needs.

A. Scalability
B. Virtualization
C. Security

D. Cost-savings

Which of the following service provider provides the least amount of built-in secur
A. SaaS
B. PaaS
C. IaaS
D. All of above

www.FirstRanker.com



